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,I'C/ Define the term ale y - - I
electrical resistivity of a material ;
y List two main :
i 1 cumpunﬂulﬁ of an Becosyetem :
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SECTION B

7 ayrat =t AT B : :
}" What are ionic E“i;m; ! Tli’ﬁ STH 3Tae o frgm s = o i 7 o
o nas Wh r 4 :
electricity in the solid Etatle:-: : ¥ do ionie compounds not conduct
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AHow do auxins promote the growth of a tendril around a support ? ;
: _ OR
Whlat is a nerve _lmpulsu ? State the direction followed by a nerve impuls
while travelling in the body of an Organism. - T
2
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B.
Why is the colour of the clear sky blue ?
T T
SECTION C
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faegat 5 ft H*(aq) 3799 8@ & 2afe v 2, 1 fis 3 wirllg
State the effect of concentration of H%(aq) ions on the nature of the
solution. Do basic solutions also have H"(aq) ions ? If yes, then why are

these basic ?
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~Qut of three metals P, Q and R, P is less reactive than Q and R is more

reactive than P and Q both. Suggest an activity to arra P.Qand Rin
order of their decreasing reactivity. =

OR
(ﬁ;me_ the ore of mercury. With the help of balanced chemical equations,
explain the process of extraciion of mercury from its ore.

B. “IFH w5 fou el aw W o wane e ae & wmm 2AEE
1 GO § 3w I9E WEE qE e 2" A X (T SR 18)
JETET FeRT 36 e &t gfe dfao | 3
"Atomie number of an element is considered o be 8 more appropriate

parameter than its atomic mass for a chemist.” Take the example of the
element X (atomie number 13) to justify this statement
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List four functions of the human heart. Why is double circulation
necessary in the human body 7

Mﬂhﬁn#ﬂqﬁﬂﬁmﬂmﬂﬁﬁﬁhﬁ#ﬁﬁm%maﬁmﬂﬁq1 %\
Explain the ways in which glucose is broken down in absence or shortage
of oxvgen.
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List in tabular form three distinguishing features between cerebrom and
cercbellum.
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Explain the following ;
Y Spociation
i) Natural Seloetinsn

O

“Mendel, in one of hix experiments with pes planta, crossed & variety of

>,

pea. plant having round seeds with one having wrinkled seeds. State
Mendel's ohaervations giving reasons of Fy and Fy progeny of this croes.
Also, list any two contrasting characters, other than round sseds of pes
plants that Mendel used in his experiments
gqatamira sads fea w=a & 2 aufies s 6 g 0 = i &
e 8 feEm 27 318 e e Tafa e avaias Rl il el 8 0 a
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s 8 92 i om =0 ur v wa wEa § g oar Reeafe omoa difga @ v em
s B FTm R I e  fTmam e S A S W IR
AwTgs & 3978 ) = Hiam | 3
What is atmospheric refraction ? Explain with the holp of a labelled
diagram that the position of a star as seen by us 18 Not s true position,

OR
-"-'E‘hli'ﬂ do we consider a student sitting in the class to be myopic ? List two
causes of this defect. Explain using a ray dingram how this defect of eve
can be corrected
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Name two energy sSHurces that you would co
justification for your choices. Can these energy
List two reasons m support of YOuUr Brswer
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3

neder to be renewable. Give
sgurces be poliution free I

=1 39l q;rr;ﬂ [ . 22 |
Why are foresis considered “biodiversity hot spots” 7 Suggest four

approaches towardls the conservation of forests

5
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?/ﬁ Rl sfifin i = # 2 faeh sz wfea samem ifim |

I
W0 wvdw sifefiem = wafem e arfe st e @ I
W T el
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(c) maﬂtm:ﬁ}:ﬁﬁﬂ;mmﬁaﬁﬂﬂﬁﬂﬁﬁ
Hufwa &1 wafem marafiw wiwo fafn | =
__,'llf# What is a double displacement reaction ? Explain with an example.
j,bf’f A small amount of quick lime is added 1o water in a benker.
&~ Name and define the type of reaction that has taken place.
~4i)  Write balanced chemical equation for the above reaction and
the chemical name of the product formed.

LHT List two main observations of this reaction.
OR _
\al Design an act ity to demonstrate the decomposition mlmml_:’#
lead nitrate. :
ih) Draw labelled diagram of the experimental set-up, List
observations. .
(ch Write balanced chemical equation for the reaction stating th
physical state of the reactant and the products

17. (2 9% ¥ fiw et wiw foew wzfem s

(b) foarea F s § e w2 & fom 3 “ 5

,f{- Distinguish between esterification snd saponification
with the help of chemical equation for each:

(b} Write an activity to show the formation of an e 1
laboratory. 3
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What is reproduction 7 List its twe Ly pin

How are the modes of reproduction diffecent in

multioellular organisms ? s o,
On

What are Bexually Truonwomitted Disepses (STI0 7 List two vies!
and two bacterial STDw
What is contrmception 7 List three romsons  for  sdopting

contruceptive melhods
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List four characteristics of the images formed by plane mirrors

A 5 em tall object is placed at a distance of 20 em from a8 cuncave
mirror of focal length 30 em. Use mirrar formuls o determing the
position and size of the image formed
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weries, and (i) in parallel Weite expressions o the waky e
resistance of the combination in sach cose

it Two identical resistors of 12 8 each are connectod o a patiaery al

o 3V, Caleulate the mmtw of the power consumed by the resulting
combinAtions with minimum resistance and maxiniun resistapes
R
y ol

¥ - i
ta)  Write the relation between resistance and electrical reststivl e
the material of & conductor in the shape of a cylinder of lengh i

and area of cross-section ‘A’. Henoe derive the 5.1, unit of sleetrl

resistivity

fb Resistance of a metal wire of length 5 m is 100 (. U the area o
cross-section of the wire s 3 » 1077 m?, ealevlate the renislivily il
the metal

3 r 3 . 3 . = 2 . =11
21.  ja) TH veEne SeEE A 1 S & e Fewm gymand @ wreEss g
saws fer 79 o == ) T Fifts =0 s fam s 9@ R EL L
fefam | ’
(b)  Tamgm siter = iR st Wi | i
?ﬁxﬁmf and state the rule to determine the direetion of Torce
expenenced by a current Carrving striight conductor placed in @
uniform magnetic field which ig perpendiculiar o 11
(b Draw a labelled diagram of an electric motor
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Name the reaction jf any chenge |
equation for the reaction

e

tudent wants to stody a decomposition reaction b taking ferrous
sulphate orystals. Write two procautions he must ohserve while

OR

performing the experiment.
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List the conclusions yvou will drow while studying the following propertiss
of ethanoic acid :
LJ'}F'- Chedonr
1 Solubility in water
i7" Effect on litmus paper
‘I:’d‘r‘f Reaction with sodium hyvdrogen carbonate
og” fasfl v 3 “waw ® s@fy # Co, Feerll 87 F WA F few I
/ srateas w fom g | e qv2 3 qram 9% e 9 § W § 7 R W

Tﬂﬂqﬁmuﬂmﬂmﬁaélﬁuﬁaﬁmhﬁaﬁl 2

A student has set up an apparatus to Snow that “CO. is released durng

respiration”. After about 1 hour he observes no change in the water level

in the delivery tube. Write two possible reasons for the failure of the

experiment, e,
PT.O.
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n. the experiment of [ Fit LEimpeerary ot p thesc W
uhsdervg stomats, we i bie |:l|u|.u:h T-Lh-*r g han water Nam
liquids and state when and why these liquids are
OH wlile
o Observe
Tist four PrEcautions in proper sequence which we
Preparing a temporary mount of a leal peel
. e FRA Tl
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) ing the
List in proper sequence the steps of the expernnment for determining

2 LhE
approximate focal length of a mven concave mIrror by obtaining th
image of a distant ohjec

OR
A student has to trace the path of a ray of light passing through a
rectangulnr glass slab for four different values of angle of incidence
Lt Wnite two impaortant precautions for this experiment
(b List two canclusions the student will draw based on his

experiment
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Consider the scale of a valtmeter shown in the dingrom and answer the

Psg

following questions

{m¥ What is the least count of the voltmeter 7

T What is the reading shown by the voltmeter 7
If this voltmeter is connected across a resistor of 20 L1, how much

current is flowing through the resistor ?
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